
6. st{ril (AVERAGE)

sTrq[rrtriTqr.tw

t. qR ,r , x2, x1t..., rn $-€I n ffi A-, fr

5l{ercr}elrfrra =
(.rl +x2 +.r3 +...+x,l)

n

2. q-a 96 qf6 ffi trfr 61, ffi o 7 qo-gl q1 q{ d a-q qrt erfrq vrGtIr le-5 rr+ y f+fr o I
qrer ql <t t ilc q.'rm t. nq,

qftur*r{vr+tstsdqrd =:+ . ffiozsra
(x+v)

qrftnr+ewr

Tqrrrur t. to t as r+ q1crfr wqral {@rsft ET 3ltFil Hr fr{n z

rs r ttqrilt ll, t3, 17, 19,23,29,3t,37,4t,43,

at tr*r$ mr *o - (l I + I 3 + l7' I 9 + 23 + 29 + 3 I + 37 + 4 I + 43) 
= 

2$ 
= zo. +.r0 l0

v(r6wr 2. TeFT 50 vrFir {srcft ql sttg-d fu-ilt t ?

EFt : 9zI{ n vrga {ersii s.r u},r - }n (n+ 11.

tt \

.'. YEq 50 vrT-d {@tot +r frq = {,-x 50xsl.,j = l27s'

.. t275 5l
Fr gql3dl ?n 31f{rd = 50 = 1 = t) )

Bqrrwr 3. s asr ss * *q +1 e tryirat frrrm ili qr-fr sfr cqF-d iqrsfr m stsd fufir t ?

(Fr: srrtqffiE 6, 12, 18,24,30.

r< {qreil qT ** - 
(6+ l2+ l9+24 +30) 

= T =,*55
3-qrf(gl 4. s *'EEcolurfrm*rcF6-tr{rt?
Ef iffi t 8, t6,24,32,40,48.

r<dsptfl eqtsd
(8 +16 +24 +32+40+48) 168_ 

- 
-,,Y66

Eqr6{ur s: fr dqrs} m 3tsfr sz t. irri t g+ {qrmg fr} qr+ qttc {qrS m stgd
30t.Btfrrr$ri@Tqt{frt?

5a , { ri "fiq {wtst 6I Ed q}.r = (32 x 5) = 16o.

qnrdEAr{rigr:x irs

t20
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'60-' = 30= I6o-.r = l2o = x = 40.
4

,.. ffi rri dqr : ao.

3-{6{o1 6. Kd 6 qTr * 24 Erir a1 strd oTrg I 4 q{ t ersarrfi E1 orq fr ffi6 6q 
"rtr 

*
*rr urg I e{ Td qrfr t, wwrw *1 eng ffi t ?

(z+ er* + I slqrq-s) u1 *sil qrg = (14 + t; ad = rs ed.

Er Rqml eflg s.r Ed +rr: (lS x 25) q{ = f zs q{.
qqrq+' 61 qE = (375 - 336) s{ : 39 sd.

Eqrflsr z. zs qfrun*u,re*sd ts t fr{tvEc tz qffiqretm ll taErsrkc rz qffi
*-r s*Fd 17 t. t3at qRunq F*-d-{rt ?

t'-lr : l 3d qRqrq : (25 qlronii cT q)rrl - ( r SEfi' +sfr{ tq 24 qFFn+ 6r +rr)
= (18 x 2s) - [(la xD)+ (t7 xt2)]

= 450 - (168 + 204) = (4s0 -372) = 78.

T(rflur s. f6fr {qr6 d Etc, {rrfl sfu gr q'r etril f,rqqH 40"c elr, q{ftra, €er ilEr {(gfr
m eltra mccH 4l oC etr. uE Sefa-en 6,r HIqTT11 42oC fr, * tcqq q;r drqq6
t*inr sr?

EFr : *c, {r;-6 nq1 gq *, 6gq-1 ql q}q = (40x3).C = 120"C,

d'rfl, gq 6q 95ffi *- 6qqs fl +q = (41x 3).c = 123.c.

qeti c{ : (Tt-sft-eR 6'r ilrqqr{l - 1frc-qR $r ilqqH) : 30

= 42" - ( dfrqn +-t rnqqn ) = 3 
o 

= etqsp s1 6FFI1;1 = 39.C.
E<r6(ur 9. a qffi { t qon ns t*'mo rnr qre qk + rqrc q{ Tqr Eqtft iTr qri t f{+

*ra qR{ t.s Fqqto qtqfqa qrfr t rt qFm qr rrnForn t ?

EiI : m { 5;e gk = (t.s * s) td,nTo = 12 ffiqo.
;ri qtm 6.r qR: (45 + 12) t.5'nTo : 57 t"Fmo.

vqr6{ur 10. t0 {qr3fr+ qtraalrrsr{r zs qlG.qet{rd6erfu enm*rrunrfr.rivcq
gm {ur sl * emqtEFcrr s4 ffi G. rfr Eitra qqr t a

Err : *'ri {qet e.t Hd +q = (10x25+34-54)= (284-54) = 230.

sfi srtqd =#=rt.
sET(ruru. lpakz tr rq6 frrfrozqrat#qmtaefietfr€s t,{ilfi4 Erfroz

qrar a1 Srd t vm t qfr ur*r fr 6 ark e1 sihra qro ffi t ?

Ea: {flQrqfftr: etsaqre =Ghffiore'a
(2x6x4) _ 48^^= 6.q f+dorcP-a =; ffi'.'qql

= a.8 ffiorqs-zT.
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uFrqrfl 6

ftqFokr ur+ { t c*n t' *+ymqi ktifaa (4 =fifuq :

l. qR I t, 23 ittn x m etsd 40 d, H) ,6 qrq f+a-+ t ?

(a) 6 (b) 40 (c) 86 (d) t20

2. qR 40, 10,25,20,35, x;FI srt$d ZS d, fr x ur qn f*n-n t ?

(a) 20 (b) 25 (c) 30 (d) 35

3. {spt 5,E,0, 12, r5 qls*q-cfs-fr{rt?
(a) l0 (b) 8 (c) s.s (O 15

4. 3 +xqq s yri m *sdffi-r{rt ?

(a\ tZ (b) tz.s (c) ls (d) l8.s

5. 100 t 6c sli fqqq srfd +tlildf 61 3fl8( f+-f,{r t ?

(a) sl (6) s0 (c) 4e.s (d) 49

6. sQrc fr eTqrq trgqr$ ql oTtsd t+-tr{ t ?

(a) 4.s (6) s (c) s.6 (O 7.5

7, 12,22, 32, 42,s2, 62, 72 vll *sd fs-r{l t ?

(a) 30 (b) 20 (c) a0 @) t0
8. qR a, b, c, d, e+qfiqrrrdfrqq{i@dd, drr-*t oitsdfuil{rfr'n?

1a) 5(a+4) (b) S(a+b+c+d+e) @) lY (4 fidt*1$TET

9. qR {qpt,4, B, c, D El eqtsd 40 t frqI qR {isr d l, s, a, rql sltqd ao t. Frqtefua i t
fr1-qr6Fq{ Fs{2
(a) (A+B)+(C+D) (b) (C+D)=(E+F)
(c)C=E qcrslFirqlD=F3]eli{I E (d) C:EffiID=F (r) E{{t+t{c-d

10. qn x'qrrrc qq{icqtdf il stq( 27 t. f{q t sqi TS dqr q#{-S t ?

(a) 36 (b) 32 (c) 30 (d) 28

U. qrd FqFTd vrfil {qrei m s+sd rr t. Ed t s-{fr qqt {{gI 6.t{-Ift t ?

(a) 28 (b) 30 (c) 33 (O 36

t2. qR l6a+l6r=4s d,nlanqtbEldqdtffi{t? (*mfroot}o2006)
(a) l.s (b)z.s (c) 3 (d) s (.)E{dt+iftt

t3. qR z {qreif ol *sc I d aqr n {qreft c,I s+sd rr2 d, fr (z + n) rietleil fi stsd futr{r

ti.n I ( gqoqsofro 2006 )
(a) (m-n) (b) mn (c) (m* n) (d) (m/n\

14. A, B,c fr1 s+qd s{rg 25 q{ t flqrffi wgei ur irJcrd 3 : 5 : 7 t.,l +1 engffi t?
k) 2re{ (b) r2s{ (c) l8q{ (4 l5s{

(qffirrq{qfflrc,2oo7 )
I s. qR tr{rtrfi ffif ol srtca ss t F{fr t wqi Tsr WIf-6 83 aEr <-{t +ei WII-fi 29 t. r}c t

{qf$im,r srd{28t. EiAyqitfi dtqsrXqfs+"m-€rt? (+fi*qrffiq, 2oo7 )
(a) 48 (b) 3e kt 76

(4 frqiR( i-fi f6'cr lrl Tdr-dr (e) rtd t +ti rfi



3*sd eg
16. A, B. Col silsd qR45 f6qro t qF<z ilrr Bifr silsf,qRnofs.flo daq a str Cqr3i1ga

r1R 43 firrllo d, n] a qr m fua-+r drn ?

(a) t 7 fd'rno (D) 20 fraro (c) 26 ft5-mo (4 3l funo
r 7. +q {qrcit q,r ertrr I I t. coF, Iiqr ftfirH ti c{ c}c {sr$ qr stsd 16 t. tffie1 r{ {cqr

61r-Tfrt? (qrodoqo 2s64;
(a\ 25 (b) 26 (c) 27 (dt to

I 8. 6 {qrrq} 6r stqd so t Td t rnrq qR riqrdi q,r stsd zs t dqr o{Fdq frr {cqrd or qtsa
35 t. dfr {qr 6t-S t ? ( qqo*oqo zooo)
(o) 25 (6) 30 (c) 3s (O 40

l e. I 00 {@rsil qr .frrr ++ t. W r oo dqrsil Hqr e rf {ensil q,r dtm 50 t. O qn r{ {qrd
m srtsd ftffir t ? 1\fio\fiofro !Q[/ )
(a) 800 (b) 200 (c) 176 (O 24

20. +{ d@Bi qr s*ro zs t wd {q' w0 t oils t ilqr frsft iiqr (s0 t g[* t. tr{r0 {.qrqqtl (ggiqso6o 2ee6,
(a) 18 (b) 24 (c) 36 (O 48

2 l. fr? dqrsil t t crd $qr (sfr dqr q1 gffi aqr frsft d.qr fr1 en* t. qft Ec *i {qrst
m Srm so d, d tred wr *vfr dqr ql gr-<r f+a-t t ? ( qsog€odo 200s)
(a) t2 (b) 20 (c) 24 (O 4s

zz. o iq.il 6r sitm t z t. gar rt iefl + sFcffrd H qr+ t qa etsa r q'q d qdr t. Effdt'iqur
mt?
(o)l (b)3 (c)5 (06

23, 6 isruif q,I etsf, +s.s t qq' lt iq"r +1 sficFffi H qri cr 16 qtgf, +z d qrdr t. qqr lqorqrt? (qsoqwo*o 2oo7)
(a) sB (b) 56 (c) s0 (O 46

zl. #r dqrd d t Erfr risr crd rtqr +1 ffi aqr ffi +t fcf+ t. fi rr frn {qrd or
srtsfr 44 d, fr vsil € {sr frfffr ,t ?

(a) 24 (b) 36 @) tz (d) 108

25. x1,x2,x7,,xa sI*ra t6t. x2,13,.rn *'frleti{Tt[23 t .r1 t[,IrIFlfirifirt?
(a) t7 (r) ts (c) le (d) zo

(tfi*, 2006)
26. 5 tqrd fi t'r sss t. yqc t {qt.il Er .}*m zs t Eqr ffi {qr I r s t. erF{c <i {gtsil

qr etsil fr-dqr t ? 1 {q togfro zoo?)
(a) l4s (D) 150 (c) 26s (O 290 (e)r+{t+tcfi

22. s mqFrr stEfr dqrif ql sitffi ,, t qfr qrfr ft Eqrrrd {sr{ fr *q6 * U d Yq rnft
a {'qlsil qr rEtsd ,, i f{i-il{r qfim tqr ? ( qpoqsofro 2qs6;
(a) I (6) l.s (c) t.4 (O z

2t. qR ttqr€q,'tql+lol stm z2.s t. E+{trr+Qqrwts r rz ccrrrdidsrEurt$ ts t, isq]
wrl+Iwsr<fi t2t rcdwl+I{tqsrdtr-gltZ ({e tosilo zooo)
(a) 70 (q n (c) 84
(4 va Tfr ffrqr EII IFfiilT (e) fri t at$ rfi
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29. j0 riqrsii ql stsil 28 t. qR q} $sls 25 nql 3s ql TfiR t, d tq {qrei ql sfrrd

tur{rt ?

(a) 27.29 (b) 27.92 {c) 29.27 (d) 29.72

ro. d {sret or ertst o.s t nqr rth Wmo 61qrip 6 t. t riqni t :

(d)3rsl 5 (D)9dtll4 (c) lOnal3 (A lliTell 2

31. v7 qfipsfr 61 etsd +z t. r+d t vqq s qfitvlr+ q-l etsa +z nq erkq 9 qfiqq1- 51 ottsc sa

t. qqYqftulrq HI t ?

(a) ss (D) 60 (c) 6s (d) 7o

tZ. lp qlm ffi frft-cf, (fr t51 sTqI r{rq 6 t+'*osna ql qre t aefl *s eTqI 3 mo/W4 q;l

qre t Tq q-rcr t. ye=*1 srtsfl qrH ffi t ? ( qgogfrofro 2007)

(a) 9 ffiorqo-er (b) 4.5 td'6oreu-e1 (c) 4 ffio/Elu-cr (r4 3 t.5dorqu-dl

s3. qfi tf,nqt t2 foag il- g;6 (t 30 ffio/qs-4 +1 qre t nq 6rfr t aqr tq qft s fo+e d +s

ffiolqu-a6lqratrqo'rfr t;@o1.p6q-sffi t? (qsogtolfro 200s)

(a) 37.5 Fffio/tTu-g116; 36 GFfro/qlzl (c) 48 f+froso-a (4 30 ffiorqo-el

34. qfi q,R i tfr€ *1 etra scd vEq 7 Td-+ { I I 0 fra vfr cr6 * npn erra s q** d qt tsrd

86 tfrrtvfrcrt 6. ts{t+frf,e1*mqqavfrqrtffi fr?
(a) e6tfra (r) e8fr{r (c) loofra (d) lo2rfrE{

,t. q5 am * 1Fe r e.g+T +1 o*rc urg 
" 

e{ t. r+l i, c.s-6t- Ei *rt urg D E{ t. tq Esqi'
q1oitffi effgffit?

(ra-sb\ (ra-rb\ 1a+sb\ - (ra-sb)
(r) ?; s{ (6) (r_r)'<d (c) (/_s) qs (,n (r+r) es

36. fir fuif q1 eitsa urg 23 e{ t dq firx 618{+ qrq ti q< qrfr- q1 ortra erg 23 s{ d rFfr

t. dlEfird+t srqffit? ('{afrosto 2006)

(a) 2r qd (b) 23 E{ (c) 32 qd

(4 Erdrfi#tqlso,fi (e) E-+dt+t$rd
3?. (+qw* z+ e-.shnww* srqrrqiqi g*q( o{rg 15 s{t. 3ilarq-fiqi1E,}sfqAqriqr *sc

eTrg I s{ a'c Ei 6 6. qrast- +1 urg ffi t ? (qwoqwofro 2006)

(a) 3s s{ (b) 3e q{ (c) ao qd (4 4l s{
38. 24 Brif +1 qqi'q'er d q.fi 18 q{ + BH i 6sil EE { aql sq+ {qH c{ qq' rA f{srPfl i Y+{r

t feqr. rst rs fiII + Brif q1 *ea elrg I qrt sc d rd. Ta f{unfi 61 enX ffi t ?

(a) raad (6) I5s{ (c) l6e{ (4.17s{
(ggo\fio*o 2oo7)

39. 96 t.qil t +0 Et?I- sl qtsd qrg I 5 q{ 6. l0 TA Eri + v+{r vri t 5n eri al *se wrg d
0.2 s{ ql EE A ri. {E ErS sl utm eng ffi t ? ( qgoq€ofro 2005)

(a) r5.2qC (6) l6qd (c) 16.2q{ (4 I6.4s{
40. 8 qffi- q1 sFfd d * 3s s{ dqr 45 s{ El s{E + A XFqi + IPIH q{ a qfrfiI$ s1 ti +

Er{ut Eisl *m urg d 2 s{ q1 qfg d lr{. r{ qf6filsil fr1 s*ea urg ffi t ?

(a) 2E q{ (b) 30 s{ (c) 36 qd (4 42 s{
(r) Fd ! ti ft{ ( qnofro\o 2oo7)
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41. s6 ffi+z *c * r r ffi { i r z q{ nvr zo q{ q1 qrg + A ffidi * ern cr i rt
ffieitEr+1*ea urgz rfrio.cd.r{. Taqil@+i eilea engffit?
(4) lz s{ I cr6 (a) rz q{ z cr6 (c) 17 s{ I I cr6 1a1 ta ed : rrt

( qHolFofro 2oos)
42. qfi qfu , se-+1 vd rqr c{* ge efr otrr wrg 5r *. iqqrr * sqq az c{ 8. E€+ ats se, s{

<tq qfi ya +,r qq gqr. lnq Es Ea d eng s q{ *, Fs Eq cFisfi ql sn-sd e+rg lo ed d ,ri.
t*er6tqqqsr+15{sgsi ergffi 6? (gogeo$o 2g65y

@) 2a sd (D) 26 sd (c) 25 sd (4 23.q{
ls. q+ sF{fr * s rr<pil { t w rr<q * rqn qr qq R<s stri t r-{d e-dqn gitqd snS 3 sd Tdffi rfr. w <) rt cw gni T<gI 61 ong d l+-c-+ srfl{ t ?.

(a) 2a{ (6) 4sd (c) ss{ (4 ls sd
44. I 0 s{ y{ 4 F<d + cft-cR al otrr urg za q{ fr . Tq erslq C A eEif + qo 61 q qfrsR ui

*m urg ure tfr rc+ d t. uf< w a-d +1 eng i q<t z qd d, il s{i dt ile d T+qra errg

f+.ilfrt?
(a)ls{ (b)2s{ (c)3q{ (4sq{

45. 5 s{ Td f{sr6 * ssrq q+' qtffi aqr se61 yd al ertw urg zr ed ,i. srq, q+' Erqr +qt e+i
t ys qF*, ss*lvd aqr w* TA +1 *sd qrg 20 qd t. e-d +1 org ffi t ?

(a)lqdtEq (6)lsd (c)3e{ (d4q{
46. 3 s{ E{ ,{ aq a q1 stsd qrg l8 s{ fr. erq c *'slq firei q d-i +1 etrr urg zz s{ Ei T{.

cs1 Tdqrt urgfira-it? 1**<*rrf+rrr, zoor;
(a) 2a q{ (D) 27 q{ (c) 28 e{ (d 30 sd

47. qq€# d s+, o.m +1 et€d urg ao ud t. 12 iA Fderfr ffi efl-rc urg r u4 X ge mar i
' {fiqfuc d qtt t. Es+ yfr q,m o1 .*cd eqrg 4 s{ +q d qrfr t. enror d qqil d ffi

fdsref q?

(a) l0 (b) ll (c) t2 (d) ls
nt. 61 6s+1 +1 *ua urg I 6 sd t. qf( #n E1 qrg$ Er ir5{a 4:5 :7 d, 

"} 
F{i *t il,sh 6i

eqffit? (STo*oq" 26s3;
(a) 8 q{ (6) e s{ (c) t2 q{ (4 16 s{

lc. qncfrarifrre-e, rrhqnrfunevt<l<r-<rfrt. qR<rqr-<rfr61 oiec urg oz sqd, crdr-
frn *1 eftvr org 3 5 e{ d Eqr a-d +1 etw urg o e{ d, * qft cR-qR 61 ertm olrg ffi t ?

d<l
1ay zs7 e{ 1ay lti a{ 1cy 327 a{ (4 fli't+irfi

so. go qR-eR fr 0 g* +1 *m eng r ad t g* am vth qmpfucr +1 ortsa urg zz s{ t. qF( fur
+l wgrrn*1urgt E s{ qfirfid, n}qnrol urgffit?
(a) aa r{ 0) s2 sd (c) 60 <{ (d 6E qq

sl. go,qffi d E qk q. F{q t A qffi 6} ffi w1l irrr{r: 2 I s{ Rer 23 uq q} q Tn qffi
t vFcerfu m fsi qrt c( sft fr t v<eif +1 oilrc eng d z q{ 6i Ek Ei,r{. Tn qi s€I E1

o*scurgffif a

@\ zz qq e) 24 qq (c) 2E ir{ (d) 30 q{
s2. I 0o {srd m dtrc frorei vt 30 crs Esil. en d an gen fr <} dqret zr fien I I + rsn c{

!fitm: 32 nql 12 EFaqfl T6 fsq rrq, +{, etq( fffi{ t ?

(a) 2e.4 (b) 2e.5 (c) 2e.8 (d) 2e.e
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5t, \fi nEF i' EIEsR i gu-c1 6* ot Eihra nrcqn 37"c sr si q,rtrsn t Etefran nm qr strt

f,rrTqr{ 34oc cn. vft gtsFfr{R rfir iIqErFI rilc-cn + f,IqsH HI i U, O gr{qtcan m mvrn

i+d-fl qr? (+fi*qrfr'Iq, 2oo?)

(a) 36.5'C (r) 36'C (c) 35.5'C (O 34"C

54. qE'sqrr d qlqqR, drrffiR, Eqi{R 
"qt 

qrsfttqr m *se ilqqri 38oc qt rS sqm d
dqildR, gtl6tR, TdgFffiK ilcn {mqn m.r sitsc atqqn 40oc qr. qR frrcR iFI IIFIIIFI 3o'c d,
fr{fi'sRmHIqqHf+.d-{ tt?
(a) 40oC (6) 39'C (c) 38"C (d) 30"C

ss. gq'eqrEdcqcqRffi]6l*sdilFFIFl 38.6ocilctTqF<qqRkfrmetsf,Erccrlno.3"cgI.
uf< $ u<ro m *so <rqqn 39. t'c d, d grefun +l mven fffifl qI ?

(a\ 36.7"C (r) 38.6'C (c) 39.E'C (O 41.9"C

55. q6 6qr *' onT fl 3ttrd rm 38 fuqlo 6. arq g sseif er sftra qR az friilo a2tt trgHf 6,I

ets( m 33 fifiuro t. qf< Ts--+Id {qI 25 d, tr r.sf*.d'+ {qt ffi t ?

(a) 30 (b) 27 (c) 20 (d) 24

sz. q+,+,urqlsitsdorlg15.8q{t.qfr**6sg-+1ft1 ertsdqrgto.+q{nqrssF*,?it-x1dtsd
ong 15.4 q{ A, fr s,eII d Ersh TEl veffi E,r ertqm ffir{I t ? ( qqo*o\o 2002)

(a)t:2 (b)3:4 (c)3:5 (4rtiitfrt{;rfi
sg. e q ff * qfi s{6 d os f+fl o m +' \rr qfu * Pm qr qfi rqr qk ti qr rt* etsd t{R

d r.s f+sro olqFddvrfrt. qtqt{6r qnf+r<rt? (lae, 2005)

(a) 70 fifiqlo (D) 74 fr;rjro (c) 76 f+qto (d) 77 fqno
59. 16 qfuiif sfr F-d ctfs+, elrq 80E00 to t nqr {<{ t w aqfm q1 qtq qrd sitffi qrc q,l

t20% t. ss qF* d qrq ftFtr+ * ? ( qsoquofro 2003)

(a) 5050Fo (6) 6060Fo (c) 6l60to (d) 6600t'o

60. qfiEqfui s q,frifaso to sfdqifrq6loq a qrqqrlTso Fo vfrsfr<ttaql lz +q1i
75s5offi+E61<irilG.sr+rrqtsdqdffieqt*,ffiIt? (t€ri, 2006)

(a) 678.50Fo (6) 800Fo (c) 900t'o (d) l000Fo

6 l. w' fi qt z q€ 61 tde +1 qtffi qrfu+ evc I I 0 +ar t. fi 3rrA 5 qE ql efllrd qlf{rfi qtd
86 tfiz{ E}, n} fe on +1 $ s{ +1 sltFrd qfffi reTd ffi t ?

(a) 98 frc{ (6) 100 €tr{ (c) 102 tfra (4 96 frE{
62. g+ 6qr q t9 srfr E,I qtsa qn 15 fr;ilo t. !tr,'rt ffi + viil cli c{ qts( qR qc?fi-t

t4.8 frqlo 16 rrqr. TE f€t6 an qn frtm t ?

(a) I0.6ftrEIo (E) lo.8frslo (c) ll fsqlo (4 la.gfuqlo

63. frfr qtffiq d qd'qqil *, Izo firsnFftft cr etsil rIR 56 frflo t. qR eqftT ql sitsd qR

6s f6qro d mn qf+,il'or etsd qs 59 ft'rlo d, d qqr d gr.+laql E.sfofr d dqt t
r9{l: (qro*ogo 26961

(a) 72,64 (6) 38,64 (c) 72,4t (4 r+{t61{Td
6{. qs'6qr + I 0 srif *1 +sd fu tos *fr" t. qq 

1 2s ffi o elhm ff * zo Stt en qe msl

frlrArrd, al t0cqrql qtsnffi f,tE+rfr? (lgi, 2006)

(a) 105 tfro (6) I l0 tfro (c) I 12 **o (d) I 15 tqlo
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5s. q+, t'qil + Er* +.t sfsd xrqtfr 68 t. E+fr trc-d fi'r otsd vreis' oo *1 6gt6?ir's-r otsd
g1qisEg t. uqr{ffiyfdrrdgs+t? (qeoquofro 2005)

(a) 40Yo (b) 60% (c) 65% (d) 70o/o

66. s Brrl + qfuil i frd eFdEF so ott6d f+.'E ra. an t an gen fr w BH + srqts as fi plrq

cr 84 G ,rE qfr sfod yrqi-{ ffi t ? ( qqoqqofro 2005)

(a) 40.2 (b) 40.8 (c) 42.8 (A 48.2

6?. gt5.Eeilfr 24 t{flfr t. f+dtfr+t*fldffi eilg 18 qd qisqiqqildgflaqr3-s*em
c{ gfi srq f{flS i c}vr e foqr. 1*rS u.ffi +1 .atua emg I qr6 c.c d rr{. ra errrg+ +1 urg
ffit? (qqoq{rofro2007)
(a) rasd (6) lsq{ (c) r6s{ (d rTqd

6s. qfi Hsil + 2E Eri + rrFrd i qtqfi Hqt+' 50 q. s{q t s Eri 6Rr fdqrmq dq qri ct otsd
flqt+,d 5 oi+1 Bl EFgdq{. fdsrdq+gql qri sre er* ql etsdcrqi+' f+-a-+r qr ?

(a) 37.s (b) 42.s @) as (d) so.s
(q€oqEofro 2005)

69. g+ cqr d E;o on {. qf< qr rqr sn fusm qp 56 f+no t v}vt qr fn t d otil t +sd qR

d t f*'qro *1 Efd d qrfr t. q*. CIit{ €rq 56 fu'mo w * on enr vivr tt q{ exEirq, *sd t' , 1.5 f6'Jr' q1 EFd Ei qrfr t. u,q{r 6r vrFrr+, ertsd qR ts-fr{r er ? ( qc"*oqo zooz)

(a) 42 f+uro (6) aa fo'uro (c) 46 f+uro @) a7 fufio
70. qfifrilgcdtfsqFr,{ o* rgcerffiqfrm{w* qtccvrqi+zo B.6u*7 { 25 f+arfr

E tq* dtqa vrqi+, 30 t ff{r frr{Fr a i zo fqild t. fr,{rq , *, qteq sTqim- f6-r{t t ?

i. r,(a) 2l (b) 23 (c) 24 (d) 26

?!.,. qfi vttr fr er* * qr nXr *, qlq( vrqiEE 52 q. Etd t 20% vfrqnlrd RTi q fu{+l stt€d

srqifi 80 qtmr z5o/o mrek EH t fs{+,r sttsd vrqt+, 3l qI. ts 55% Eri ql 91*6 vmi+,

f+-c+ ql?

(a) 45 (b) 50 (c) HTFFI 51.4 (d) lTrlqrr 54.6

zz. g+ qtm d ffi * *. slhq vrqiq. 63 vfr Fdsq q. qf( TS Tri-d t 2o iri+ srfr+- frd fi aql
qfutrs I z r*6 orfirfi fird dt, fr dlq( vrqim' 65 sfr frrq fi. rv vfrm C gn f*w fo-di A ?

(a) 8 (b) e (c) l0 (d) ll
( qrro*oqo 2oo7)

73. qfi Brflsrc d r s or* t. qF< Erjf Bl dql d z cl qFe m t d uri c{ sftF{ a2 t. o1 Ek ttfi
cE Sqil qd d I t'o vfr sn +1 << t 6fr E+.fr. T6A teri q{ vfrGr Ed f*'fir ut ?

(a) 432to (b) 442Fo (c) 420Fo (d) 40Oto
(qqoqsofro 2005)

74. q+, u'qfr q Sd 400 +,,ffi m,r4ra t ffi oTsv< 6qr rs-qr {. 5l-+r qfufi ertfld +fi 3 000 Fo

t. qR qq.'{R 6I eiqd qtfsfi +f,t 1 0000 to d nqt c-s{{ fl siqn qrFfifi +iH 2000 €o d, E}

*,q-frd sTq,sif 61{q|ffit? (qro*o\o 2007)

(a) 40 (b) s0 (c) 60 (d) 80

zs. q*' q*flq i qr*m q,ffi- ql srtsa qrfiro iol E5 00 t'o g. qq 7 6+-ffi uffi' q.r et{rd
qrfu+' +cr 10000 ro d iln tq 6+srRqi* +,r *sa qrfu+. +il{ 7800 Fo d, il T#{nq d Sf,
ffi6ffit? (qqoqso*o 2005)

(a) l8 (b) 20 (c) 22 (O 24
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76. q6 qd-drq e1 t t crfr{ii 6r q6 fo$q snq( L t 2fr crfi t vqi qo rr ffirA aqt Y$+1 s*sa rc
riqr s q,c d ,r€. tzdt qr0 fi qn yr*l efqd rt dsr ffi (d ?

(a) 127 (b) 145 (c) lso (O 2t7
zz . ffiz *' go 6*;1 61 ;iqcr$ qr ertsa I 2 .4 t. {6 26 rl qt s fq#e d-+'t oTErfi sit€d ffi

t o.+ +1 ofr or tar t. srtuq +q Hs ssi ffi td+z ffi ?

(a) 85 (b) 78 (c)'72 (d) 64

78. qffi Td-dM I 9fr cfi { eE aq qq-6l qrfr eitef, r{ {@r t + d Tffi q'fir t. I ed crfr + sK
rs+1 ortsdrt{@rf+-frfit?
(a) 22 (b) 24 (c) 26 (d) 28

79. 6 qFH gfi d-ee i urn lgri -rE. 3-{q t +s q q e$+ i erqi sr} q sz to Ed H aql tr}
qF* i qrfi 6 qk{t'+ stsd E{ t s0 to orFr+. rad H. gr€ tr{ S sd f*-q rrql, qe t :

(a) 192 Fo (b) 240 Fo (c) 288 no (d) ll0 t'o

80. q+' cfr Hr t gfi osn + cs+ nrn Cfor.di + .i*u vqi+,,a t. rs +'til i cs+ qq1 69t6"{il' sI
erJca 3:l t. qR 6s+1 ffi +sd vrwi+, (A+l) d, d e-sH +l oiqfl srni*-f+,'fir t ?

@) U-\ @) (A-3) (c) (,4 + l) (d) (A+3)
(q€oqfrofro 2006)

fiTTTIIETT

(b) 10. (c)
(b) 20. (d)
(6) 30. (6)
(6) a0. (e)

(b) s0. (c)
(b) 60. (a)
(A 70. (a)
(c) 80. (b)

8.
tE.
28.
38.
48.
58.
68.
78.

4.
14.
24.
34.
44.
54.
64.
74.

(D)
(D)

(b)
(b)
(d)

3.
t3.
23,
33.
43.
53.
63.
73.

(a)
(a)
(c)
(c)
(c)

@
(c)

@

l. (c) 2,

rr. (d) t2.
2t. (d) 22.
31. (c) 32.
4t. (b) 42.

sr. (a s2.
6t, (b) 62.
71. (c) 72.

e)

c)
c)

c)
n)

)
)

)

)

a
a)

c

c

o
6)

6.
16.

26.

9
t9
29
39
49

(b)
(c)
(c)

36.
46.
56.
66.
76.

d) 59,
a) 69.
c) 79.

(c) 7.(b)
(d) 11. (b)
(a) 27. (b)
(b) 37. (b)

@) a7. @)
(c) s7, (d)
(c) 67. (c)
(b) 17. (a)

s. (b)
15. (c)
25. (b)
3s. (a)
4s. (o
ss.(4
6s. (r)
75. (c)

1

3

4

5

trt"rlvrfr*ra
(ll+?3+x)-oo 

=34+ x=t20+ x= (120-J4)=86.
3

(40+10+25+20+35+.x)
=z-.=130+x=150=x=20

6
(5+8+0+12+15) 40 ^EIrilE glI{rd =-----t- = 5 =6.

_ (3 + 6 + I + 12 + 15 + lE + 2t + 24 + 27) 
=.!li = r S99

roo t q'q srfl frcq rrga {eutr +r *r
= l+3+5+ 7+9+ ...+93 +95 +97 +99

= (l +99)+ (3 + 97) + (5+ 95); (7+93)... 25 qt.df iln

= (l 00 t I 00 + I 00+... 25 rrd a-+') = (100 x 25) = 2500

2500

50

sr$E qrt{d

srfre qtsd

t.



o+'sd

6, srse dqd - 
(2+3+5-+7+l l) 

=4=s,0.55
7. (12 +22 +32 +...+ r2)=&!D.(?'))-

$rd n = 7 1si 91, (12 + 22 + 32 + 42 + 52 + 62 + 72; = 
(I J'11) 

= 14g.'6

sr.ftE srted =Y=ro
S. He t f6 b = (a + 2), c = (a + a\, d = (a + 6) is1 s = (a + 8) .

o * (o *2):J!:9:!:9:J!jp_ (s1+ 20) _5(a +4t, - .,,.'. 3lril€ 3f{rd =- 5 =@+4).

9. A+Blc+D - 40+ A+B+c+D=ruo, o*':t*, 
=40+A+B+E+ F =160 .

,.. A+ B +C + D= A+ B + E+ F = C + D= E+ F,

10. qraa{qfi'r,x+2,x+4,-r+6 t. q,

- 
x + (x + 2) + (x + 4) + (x + 6) 

=27=\4x+12)=(4x27)=108 = 4x = (108 - l2) =96-x=244

... riqrE i zq,zt,28, 30. F{q i v+i cr$ dqr:o t.
It. qr*t {@rE t x,x+l,x+2,x+3,x+4,.r+5 rrsl r+6.

(7x+21) 7(x+3\
El g@II3II tEI sikfd = 

j-----------a 
= -:jji--:-- 

1 
= (r + 3).

.'.r+3=33+r=30.
f{i T{S E+ {.qt = (r + 6) = (30 + 6) = 36.

12, l6a +l6b = 48 + l6(a +D) = 48 - (a+ b) =3.

sl.frE sitsd = 1r, * ar = l.], :l = r.s.2' \2 )
13. (n+n) {qtdoT $-fltt = 1"rn2 +nm21=1mn2 +m2n)=6p(naq)=mn(n+n)

En dqrei 6t sfrqd =mn(n+ 
n) 

= ^n.(m+n)
14. clT' A,8, C si e[rg F-cfl: 3.x q{, 5.x sd dst tu qd t. ild,

(3x + 5;+ 7 x) 
= 15 = l5.x = 75 + r = 5.

.r,4+1 wrg =(3x5) q{= 15qd.

15. qrt qrlt+l sT t'I = (Sg * l) = Z:0.

cHI <j {wfo r nslr.x - 28 t.
. . 83 + 29 +.r + (x - 28) = 236 + 2x = (236 4. ZE - |Z) = t 52 ) x = 7 6.

el$e p?o: zo.

16. (A+ B+C) E,lEc qR =(45x3) f6qro = 135 f{'flo
(l + S) 6,1 5tl rlR = (40 , 2) tt67to = 80 f+qo
(8 + C) fr'I S-a rIR : (43 x 2) f<[-Iro = 86 f*'mo

(i0 Rcr (,,D sl +si R :{1t + n + C) + 8} sr EiH rrR = (E0 + 86) fiilro = 166 f6..mo.

... I zF'I qR = (t66 - 135) f6-flo = 3l t+'qro.

129

..(,
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q<f{€ oi6llF4d

t7. 5 {i@li}il 6r $o ql.r = (lE x 5) = 90.

4 d@r$ii ot Sd qt{ : (16 x 4): 64.
qfre{isr =Oo-64)--26.

lE. 6 d@rd 615dqh =(30, 6) = l80.

rerq q {ql}t 4'r sd frq: (25 x 4) = 100.

qfuq 3 {6qr$ El 5e ft = (35 x 3) = lo5.

+d {gt = (roo + l05 - l80) = 25.

19, loo (qld 6'I gm fri = 1++ , loo) : 4400.

to+ {qtefr q'r Eie frq = (so , lo4) = 5200.

qn ri {qr$ 6r t r: (szoo - ++oo): 8oo.

' Ei9 
= zoo.fl qR {felIsII :61 3tl{lil = - 

O

zo. dariwroiiw5tt:1zs * 3):84.

tr+ 1vfi {wr =,x. d;r, v6d ietl = } wr ffi r+er = zr.

.. x +! +zt = 84 -\'a 
* 
;* 

o') 
=E4 = 7x =168= x=24.

sra: frsfi riut : Q x 24\ = 48.

zl. xr+ffider =x irt{, qf,d {qt = zx aql ffi Tiql =+x'

ffi €qpil mr SF tn = 1so x 3) = 168.

.'. x +2x + 4x = 168= 7x =168 + x=24.

s1frq er<r = (4x - 2.x) = 2x = (2 x 24): 48.

22. 6 ielsi s'l Eiofrrr = (tz " 6) = 72.

z iquif qT qtsa = (tz - l) = ll.
z iwoi a gn *r = et x 1\:77.
qra-qi iqr"r = 07 _ 72) : 5.

23. 6 icrst fl E'e tq = (45.s x 6)=273.
z iwut or gn frr = (4? x 't) = 329.

Tcr icrq =,G29 - 273) : 56.

24. qnr {6fr €@r =.r. a-e, Evfr +iwr : 2, wr ffi {qr =+'l
ffi r4q1st sr tr = @4 x 3) = 132.

... x + 2x +4 = BZ + 3x + 6x +2x =396 = I lr = 396= r = 36.
3

s{i TS t@I = 2x = (2 , 36) -- 72.

25. (xr + 12 + 13 + xa) = (4x l6) = 6n, ] {r2 * r: + x4) = 23 ) (x2+ x3 +'ra) = 46
2

.'. 14 = (xf +.x2 +.x3 + xa) - ( x2 + x1 + x) = (64- 46) = 1 
g.

26. 5 Tiqrcil sr siE frrl = 555.

yqc a {qrot EI gR trr = (75 x 2 + Il5)= (t50 + II5) =265.

s{tdq Z ricEfli]tf sr diq = (555 - 2651 = 290.

- 290
Tr {iql$E'l q1q6 = ::-: = 145.

Zz. qrtr E,,qrrrc {rEqri' .r, 1x i t;, (j + 2), (r + 3) ill (x + a) t.
6q, Ff6] +rl = 52.

... 5x +lO = 5m + 5(x + 2\ = 5n + x a 2 = a a 7 = (m- 2).
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i S dsd t @ - 2), (n - t), n, (m + t), (n + 2), (n + 3), (n + 4). ( n + 5)

5ffi 3it€d =!T!=!(a+!2 =m+1.5, dt ,, t r,s qFrs.t.

za. 4 qqf+1'qr gid +q = (22.5 x 4) = 290.
:mr d Tqto-t aw (r- l2) t. rs,
I l7 + l5 + -r+ (.r - l2) = 290+ 2x - (290 -tz})= l70 =.x = 85.
q$e Ywf6 = s5.

29. 4E {srsrT6'r*rr= 1so x 28)-(25 + 35)= 1400-60= 1340.

t340 335
Elqte siTga =----:-=- =27.92.

r0. t dqpil or trr = 1o.s , 2) = 13.
qla Q {6afi a qqt D t. nq a + b - t3 aqr j;, = O. Erf,: a6 = 36.

(a - b)1 = (a + b)z - 4ab = (t3)2 - 4 x 36 = (t 69 - I 44) = 2s = (a - 6) = 5

(a +b=13 drll a-D=5)+a=9,b=4.
3t. 9sr' cfiplTc = (42 x 9 + 54 * s) - (47 x I 7) = (378 + 486) - 79e = (t 64 - 7gg, = 65

32. {ftfraftrBr : sfrsd srq =# =.ft# f6rfropra = 4 ffio^rqr.

33. E;etnr+t'r{Efi =l(rr.#).(.r.*)] *. =16+o;fofio = 12 rirrfto.

Sc (t 61 ilq s'd d s"n ncq = (r2 + E) frae = #
otsaere =# *"*,=36 tdirfro/qtzr.

34. EiE 12 qE +1 ucd = (r t0 x 7 + t6, 5) ds( = (770 + 430) *.{ : I 200 +E{

dt+rc scd = ff +" ,n ,m = too +a yfd cr6.

35, r rr.s$f ;rl uq ql gn tr = ra e{.
s ee61 +1 erqmgn<h =sO a{.
(r - s) Er<+) +1 e{rg fi if'q *rr = (ra - s6) zr{.

rt E1f+l +1 etsa wrg = 
t!"-'l' *.

36. 3 firi qfi sngsr 5,-f, ftr llr'l rt + =ug uc.
+ tri ol qrg +'r EiE +rr = (23 , a) q{ = 92 q{.
+E fu ql o{rg = (e2 - 6e) sd = zl q{.

37. (24 Ers*' + e[qqrfi ) fr1 uq 6,r v]rr = 1 tj x 25) BC = 37S s{.
24 ds+l 61 slhm urg = 1rs - r) E{ = t4 s{.
24 ds+f s1 s{rg fl +Ir = (14 x 24) EId = 336 s{.
sltclqo +1 srE = (375 - 336) s{ = 39 Sd.

3s. 5fr sngds'fr : e4 x t)qtti = z q{.
rq 3{rIIEfi +1 slrg : (rt - zy e{ = ro e{.

39. 40 Erfr 61 sirg 6'r S€ qtq = ( 15 x 40) ad = 600 
"{.50 El* 61 ertm org = 1r S + 0.2) sd = t 5.2 s{.

F{ot.
I

3
qQ
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qqt{B oi+.rrtrtd

50 6r=ii B1 i{rg 6I g,d t r = ( t s.z, sol * = (ff ' so) at = zoo +.
to or=ii e1 3{rg 6t tq = (760 - 600) q{ = too s{.

vl sri o'r an-rro org = ff + = 16 qd.

40. 5,-eyte = (E x 2) qd = Io qd.

qri sTa A 5tfr *1 eng ol tT = 1rs + ls; ad = 80 q{.
qTi srd d qfc'f,Bn d 3ng fl tT :1to + toi <d = so s{.

Er qFrerdr e1 eltr< urg = i at : cs q{'

lt. qri er& d fic-mTH 61 B{rg 6r frq = 1 t z + zol ad = 37 q{'

TE Afiqq$ errivr u-EE',o .erg:(ll ,2) qfri = I e{ toqfii.
ra A tu-dr .H s1 snrg 6r q}.t = (:z q{) - (t qd to:rdi) = 3s e{ z rtti.
rc d fiTf,IM +1 oisd 3rE = 17 sC z qr6.

a2. ierg*tt{sr6+sqq, (qtff * ss+1 vd * grfiI+cl) :(42x3)ed =czoq{.
qr{T 3-g nEFl Srcg <i en{ =.r ird.

fq-cr6 t 6 qd qR cftqn tefrs(d +1 wg+l zil't

= 125 q{ + (6 x 3) s{ + s s{ +(.r+ 6) ad=(t5J +x)ad'

.. 155 a ;g = (36x 5) = 155 + x = 180 = x = (lt0- 155) = 25 Et{'

a3. : qd d s"fr +i ge qrS d Efu = (3 ,. 5) q{ = 15 s{.
... rn e g{ri T(dr +1 orgd erd{: ts sC.

g. qrt dt Ei ol erg =x s{' ilq, qq Te +1 ur$ : (.r + 2) ad'

qe o s(df a1 eitu< eng = z+ u{.
er< o vcd +1 eng ol fri :1zl , 6) qd = 144 q{.

(24x 4) + (l0x 4) + x + (x +2) =144= 138 + 2'r = 144 +2x=6+ x=3

.'. dt e-+ q1 Tfctr qrg = 3 qd.

ls. s <{ q{ Ye eFn q{!rs-+1 ffi 61 ongeil rr *tr = (23 x 2) a{ = 46 a{'
ss qfo nqr sc+1 q-d ol e-dcn qrsoii cr tT = [46 + (s ' 2)] s{ = 56sd'

srq, vq qk, ss+1 cd <cr dA d wqefr 61 4T = (20 x 3) s{ : oo s{'
c-e s1 T+qtr lng : (60 - s6) s{ : + q{.

#. A ffiia *1 I ad gd engs +r*'r = (18 x 2) E{ = 36d.
.4 ffir s 61rdcn eng+t +r dT = [36 + (3 , 2)] q{ = a2 q{'

,a, anq c q1 qdqn urgdl or fitr = (22 x 3) E{ = 66 s{,

c qfi TdqH 3{rg = (66 - 42) q{ = zl qd.

47. q-a 31qq d s'qTr *' ffifif,' s1 {i@n =.x. irdl,

40x + (32 x I 2) = 36 x (.x + l2) = 40x + 384 = 36x + 432 - 41 = (A32' 384) = 4t + x = l2

.'. qr(lqd6qlrfr tzfflfr 0.

48. d-{6s+1 d s{rg 5r +,r : (16 x 3) Ed = 4s s{.
cru F{+1 etql a.x {d, 5,r sd ilr 7r q{ t.
(tl 4r +5x+7x = 48 = l6x = 48 +.t = 3.

E{$ dt E-.s+ d qrg: (4 ' r) s{ : tz sd.

e$ Tr<FiI- q1 g,€ 3{rg 6r tl = [(67 x 2) + (35 ' 2) + (6 ' 3)] Etd

= (134 + 70 + lE) q{ = 222 s{.
11)-5

e+fieet+os{rS =? qq =31; sq.
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50. 6 g-ir'61 s{rg ol *l : (E x 6) e{ = +s sd.
qla ry61 6l urg =, e{. Tq, fudr s1 31I1l : (-r + E) td.
(cril + fufl + 6 gi) 61 s{rg fl *rr :(22 x E) sd = l26 s{
.r+.r+8+48= 176 + 2x + 56 = 176=,2x = 120 + x=60.
... crdr s1 qrg = 60 qd.

eflC S Eid Cfs : (8 x 2) e{: ro sd.
d ra e641 51 Eng 6r tr = (21 + 23 + t6)ed = oo E{.

Eq A + qffii'Eh1 etm eng =f + = m +.
52. kA rA efsa t fl {qrsi fl Si€ qtr: (30 x 100) = 300Q.

*fi,tr = {3000+ (23 + l)_(32 + t2)) =(3000 +34_i4\=zgso

ats 3+Hd =290 =zs.s.
100

$, tq + rirrf, + gq =(37 x 3) = llt
rirre + gv + gtefr = (14 x 3) = 102

T6*fr =1 *q =+ *q =t
4

(0 -(i,) t : *r - aeelc =e+f eE{qn - T6sfd = e

:. !x-x=9= 5.x - 4.r = J6 + r = 36, q6i1= q6gf6ag 16T itFfrrFl.

54. *q + qrrf, + gq + grwfr = (38 x 4) = 152

{'r€ + gtt + Etwfr + IIi6 : (40 , 4): t6o

E ri ct, (Ufi) - (Sq) =8= F-30=8+ F= 3E.

.'. II,6-.{R rFl dlqqFl = 38oC.

55. frq + rirrf, + grt + Tesfr = (38.6 x 4): t54.4

T6sfr + pn + vfi + rE = 1lo.: x 4): 16t.2
frq + {rro + gu + arefr + gm. + rfi +rE = (39.1 x 7) = 273.7
(,) + (,i) - (,ri) t T6(cfr = ( I 54.4 + t 61.2 - 273.7) = (3 t 5.6 - 273.7') = 4 t.9.
erd: T{gltil.rR sr nFrqF = 41.9"c.

SO. qrfl Veffi s1 {qr = -r. itrr,

(42x25) + (33x x) = (2J + x)x 3t + 1050 + 33x = 950+ 38x +5r=100+r=20.
... esfs{t- sl riqr = zo.

57, qril s{$E qJCrd = r . l.
-rx 16.4 + lx 15.4 = (x + I)x 15.8 = 16.4r + 15.4 = 15.8.r+ I5.E

+ 16.4x - 15.8x = l5.E - 15.4 = 0.6.r =0.4- r=4 =263
.'. qrfrEeqvn =J:r=z:1.

58. qR d Ea Etd = (1.5 x t) f6flo = 12 fq;qro.

naqfuflqR=(65+ t2) frF-rro =77 fwto.

se. alqffidqhrosnq -tP o.=5o5oro.

ssqk E1 slrq = 5050 Fo i r2o%= Itoro-.!39.) To = 6060 r'o.\ t00/
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qEFE sifirrFm

60. SQ qEsrl 61 {sl : (5 + 4 + t2) = )t.
EiEqd=(450 * 5 +750 x 4+ 750 x l!) {o = 14250to'

s+saEd =tTio o" =678.s7to = 678.50tro'

61. 6'K E1 r z *.t # tfr" + E'd rcq-d = (l l0 x 7 + 86' 5) *a = tzoo fra'

qtsoqrtu+qq-c =ff 4..= loofra.

oz. Ie orlf q,rEn qK:(t5 x 19) f6-rllo =235 f5'mo.

20 Eri 6,13E qR = (14.8 x 20) ftE-IIIo = 296 fifi'mo'

cA f{flqT ql rm = (296 - 285) toflto : I I faqlo.

63. r{Hr E€;-+T 61 (irsn = x aql dsfr.d' d dql = ( 120 - r). tFl,

"60xx+50x(120-x)=56x120+60x+6000-50:r=6720*l0x=720+x=72
... 6.s+1 st {qI = 72 ilzn Erctd?il' +1 {et = 1 t zo - 7 2l = 4E.

64. t0 Erii fr1 +sr$ sI +q : (105 * l0) t{o = 1050 tfro.
20 Eri u1 +qr{ 6I {lrr = (!2u , 20) t*o = 2400 tdo.
5'€ 30 Eri 61 *sri fl +l = (1050 + 2400) tfro = 3450 tfro'

q*e *€afu ={f *n. = 115ffio.

65. qrql Eed sl rirecl = x aql vst6-{il'E1 {iEqr = (100-r).

iFl, 60.r + E0 ( 100 - r) = (6t x 100) +20r=tgg6-6390=1200 *x=60'
e-.c+lo1vfura-m =00x.

ee. df+-o H'rE gn vmi# tr <),r = (50 * 5) = 250.

yr,qi+J 6r ZFg-(R" +q = (250 + 4t - 84) = 214.

€-fr lfltsd slqt6 =?Y = 42'E'

67. g;a slrg d 6'fr = e4 x 1) cr6:2 sd.

rE fsild +t qTg = (18 - 2) s{ = lo q{.

6E. 2E Erit- + giq $qiqi = (50 x 2E) = 1400.

zo ori +, En n<ia = (55 x 20) = I loo.

a ereT * gn rnai+ = (1400- I 100) = 369'

qse qtsn rIRiE = {9 =:z.s .

69. qr{r gTFrl d r Erd q (qI Yffir *vo w< y t+xo w. r<,

?*?9 =1y* r1= xy + 50 = (:r + l) (y + l) = ,)' + r + y + I =*+/=49(r+l)
rl,+50+50_

(r+2)
+xy+100=(x+2)3v+-'2 y*1) = +,+ros = ry +lx +2y +3

)

(,)

(,,)3

='-x +2Y =97 =3x + 4Y =194
2

(O +i r t Uun c<h (,i) t t qfli ct, / = 47'

asil 6I cr(Frfi dtg< qn = +z ft'qlo.

zo, qr{I fAqrrr B 6,I ef,tsd YIqi6, = r. Tq,

(30.x 25) + (: x 20) = 30 x (25 + 20) = 75ga2ga=26x45

= 750 + 20x = ll70 + 20x = tl20 + r = 2l

.', I6I*sdflqi6=21.
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7t. qr{l 31rfrq etFd cIRirF'=.r. itct,

(20 x 80) + (25 x 3l) + (55 , x): (52 , 100)

+ 1600 + 775+ 55.x = 5200 = 55x = (5200 - 2375) = ZtZs

=,=Y=f =5r.4 (Eqqq).

72. qr;II E;H HTq = r,. ntt, E-ir xmrio - 63n.

65n_ 63n = (20 +2) = zn = 22 + n=tt.
5'EFqyq = Il.

73, qra 1EA c{ y6A S-d q{ EFdfqr er = r To. ird,

*-" i:" = t = 6x - 5 (t + 42) = )lo +.r = 420,

qa. e$e Tfd = 420 Fo.
zl. qm qq"sfr +1 {qr :r. ilq, Td{t 61{wr = (400 _x).

( 10000 x .r) + (400 - x) x 2000 = 3000 , 400

=r 8000.r = 1200000-800000 = 400000 + x = 50.
... sTsst 61dqr = 50.

75. qr{r qtflrc { g;tr t6.tslt :r. nE,

(7 x I 0000) + (r - 7) * ?800 = 8500 x r = (8500x _ i800x) = / x (10000 _ Zt00)

+loox =7 x 22([ + x =7'2200 =22
... r#vmdgn+,d=nR-4r-+1riqr=zz. 700

75. rrFil I I crF(fr E1 qtra r< {qr = x. a-q,

I lr+ 90 = (r: 5) x 12 + I h + 9O = t2-x - 60 =, = 150.

rzeT cr0 +.<1< qtsa 11 riqr _ (l lr_i 90) _ (l I x ll_0+ 90) 
=t740 =,t+s.

77. qnrsrfdqtstq6dmrqA+.]1 *, t2 t2

(12.4x + 26\--l---=i-- = 12=12.4x+26=t2x+60 =0.4x=34- r, 
34 34x l0

(r+), zo= tzx+ou -u{r=J4+'x = 0l = -]- =E5'

er$e fsiia +1(qt = es.
7t. cHr l9d crfr t'eR qttld T{ Tiqr =:.

ils, lE{ cr0 + qls 31tsa (r tqr = (: _ 4)
' .. l9x - l8(.r - 4) =9E+ x +72=98+ x =26.

... tsf, crt * sR et{d rr riqr = zs.
79. rtFII TI$ F,l qtffi E-d =.r to. rrd, g€r El{:5: Fo. r

(32 x 5)+ (x + E0) = 6.r :+ 5.r = (160 + 80) = 240 = x = 48.

3n r!r{:1na x 6) Fo = 288 do.
so. qHr sHr t 3m ds* aqr m ilsF{i.il t.

EB flqi6 = 4Dt {.

vc+l t' Sm srq'* = 3n (A + t) = (3nA + 3n).
wsf+d * s;asrqi*, = 4nA-(tnA+3n)=(nA_3n).

6-sffi + eqtsfl yrqis. - @A 
-3n) - 

n(L- 3) 
= U - 3).
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